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I. Warm-up (4 points per question / No points deducted for wrong answers)

Y

1. A store has a number of pens. If they put 9 pens in a box, there is no pen left. Which
answer below cannot be the number of pens in the store?

M6t cira hang cé mét s6 but. Néu ctr 9 cdi but duoc xép vao mét hdp thi vira hay du. Hoi ddp
én ndo sau ddy khéng thé la sé but cé trong cira hang?

A) 2097 B) 1998 C) 3726 D) 2996 E) 945

2. Aletteris called symmetrical if it can be cut into two identical parts.
Mét chi¥ cdi durorc goi la déi xtrng néu ta cé thé cdt nd thanh hai phdn y hét nhau.

In the word FERMAT, how many letters are symmetrical?
Trong tir FERMAT c¢6 bao nhiéu chi¥ cdi déi xirng?

A)1 B) 3 C) 4 D)5 E)6

3. Ashley writes ten numbers on the black board. Ashley asks Tracy to find all prime
numbers. At most how many numbers can Tracy find?

Ashley viét 10 sé Ién mét chiéc bang den. Ashley dé Tracy tim duoc tét cd cdc sé nguyén té. Hoi
Tracy c6 thé tim dwoc nhiéu nhdt bao nhiéu s6 nhu vay?

A)2 B) 3 C)4 D)5 E) 6
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4. Lucy accidentally poured ink on her exam paper and the ink covered a number in the
equation. Can you guess that number?
Lucy khéng may d6 murc vao bai kiém tra va lam che mét mét sé trong phép tinh sau. Ban héy
thir dodn xem s6 bj che mat la sé nao?

25+ 5

A)1l B) 15 C) 10 D)8 E) 13

5. Justin has a rectangular piece of paper as follows.
Justin c6 mét mdénh gidy hinh chi¥ nhat nhw hinh dudi déy.

He folds the paper so that two red points coincide. What does the paper look like after
being folded?

Anh @y gdp to gidy lai sao cho hai diém mau dé tring nhau. Héi sau khi gép thi to gidy tréng
giéng hinh nao?
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Il. Speed-up (6 points per question / No points deducted for wrong answers)

6. A group of workers had to paint a house in 2 days. The first day, they
worked for one third of a day. The second day, they worked for half of
a day. How many hours in total did they work on painting the house? UL
Mét nhém céng nhén phdi son mdt ngdi nha trong hai ngay. Ngady dau tién,
ho-lam trong mét phdn ba ngay. Ngay thi hai, ho lam trong nira ngdy. Hoi
ho son cdn nha dé hét tét cd bao nhiéu gio'?

A) 20 B) 4 C) 18 D) 16 E) None of the above
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7. Given a table with 5 cells of different color. Which cell has the smallest value?
Cho bdng sau c6 5 6 v&i 5 mau khdc nhau. HGéi 6 nao cé gid tri nhé nhét?

1,22 Y
2 3 2
5_8 20%x -
39 4
A) Blue B) Yellow C) Red D) Green E) White
8. Uncle Lam has a square garden. After selling 2 pieces of his 10m 10m

land, the garden looks like the figure below. Find the area of
Uncle’s Lam garden right now in m2.

Bdc Lam ¢6 mét khu vurdn hinh vuéng. Sau khi bén 2 phén cda
manh dat thi khu vuon tréng giéng hinh duwdi déy. Tinh dién tich

khu vuron bdc Lam liic ndy theo don vi m?. X

15m
25m
30m

10m
A) 900 B) 675 C) 750 D) 650 E) 775

9. Mr. Smith wants to go from Santa Barbara to NEW EARLY TRAIN SCHEDULE

Moonpark. He searches the train schedule Train New Morning | Afternoon

online and sees the table below. How many o Seivics @ | Neash 3
. . . Simi Valley 5:19 AM 6:41 PM
minutes should his travel last according to Mbbiark 31 AV P
tAhis schedule? , ~_Camarillo 5:46 AM 5:56 PM
Ong Smith muén di tw Santa Barbara dén oynard 5:58 AM 5:40 PM
Moonpark. Ong Gy da Ién mang tim kiém lich ~ventura 6:12 AM 5:26 PM
trinh tau chay va nhin thdy bdng dwéi ddy. Hi  Carpinteria 6:34 AM 4:55 PM
theo lich trinh nay thi chuyén di cua 6ng dy sé SantaBarbara | 6:47 AM 4:40 PM

kéo dai bao nhiéu phut? Goleta 716 AM 425PM ©
A) 105 min B) 76 min C) 85 min D) 95 min E) 75 min

10.Cindy has a rubik cube 3 x 3 x 3. One day, she dropped it and broke
the rubik into 2 pieces. She found one piece of the rubik which
looks like the figure below. At least how many small cubes does
the other piece contain?

Cindy c6 mét khéi rubik 3 x 3 x 3. Mét hém, cé bé lam roi khéi rubik va
lam né v& thanh 2 phéan. C6 bé tim thdy mét phdn tréng giéng hinh dudi
ddy. Hoi phan con lai chira it nhét bao nhiéu khéi ldp phwong nhd?

A) 11 B) 16 )9 D) 18 E) 17
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I. Challenge (8 points per question / No points deducted for wrong answers)

11. All students in a class took a survey about their birthday and the results were recorded
in the bar graph below. Find the percentage of the number of students born in March

compared to the total number of students in the class.

Tét cd hoc sinh cia mét I6p lam mét bai khdo sdt vé ngay sinh nhat va két qué dwoc ghi lai
trong biéu do cét dudi déy. Tim ti Ié phén trdm giita s6 hoc sinh sinh vdo thdng Ba so vdi téng
s6 hoc sinh trong I6p.

Birthday of Students by Month

A 1 unit length = 2 students

Number of Students

2-:|

0 : :

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
Month

A) 10% B) 8% C) 4% D) 5% E) None of the above

12.A rope of length 2m is glued on a cubic box so that its two ends must meet at the red
point. Three sides of the box are shown below. What is the maximum surface area of
the box?

Mt ddy thirng dai 2m dwoc gdn 1én mot hdp hinh 1ap phuong sao cho hai dau déy duoc gén
lién vdi nhau tai diém mau dd. Ba mdt cia hdp duoc cho nhw hinh duwdi déy. Héi dién tich toan
phaén cta khéi ldp phwong Ién nhét ¢d thé la bao nhiéu?

A) 9600cm? B)3750cm? C) 5400cm? D) 2400cm?  E) None of the above
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13. Mulan fills number in a sequence of groups with pattern as below. Find the sum of all
numbers in the first column of the 25" group.
Mulan dién s6 vao mét déy cdc nhém cé quy ludt nhw dudi ddy. Tinh téng tét cd cdc sé ¢d trong
cot déu tién cia nhom thu 25.

8 9 4
7 6 5
Group 1 Group 2 Group 3
A) 2028 B) 325 C) 2113 D) 2021 E) None of the above
14.The graph below shows Marie's distance from £ ’_’
= 7
home over a one-hour period, during which = ¢
time she first went to the bookstore, then E 5
went to the supermarket, and then returned £ 1
home. Find the average speed of Marie in the ‘:‘; 2
whole trip without taking the time she rests .'.E 1
into consideration? |0 1020 30 40 50 60

Time (minutes)
Biéu db duwdi déy cho théy khodng cdch gitra Marie va nha cua cé dy trong 1 tiéng déng ho.
Trong khodng thoi gian d6, ¢ Gy da tdi hiéu sdch, tdi siéu thij réi tré vé nha. Néu bé qua khodng
thoi gian cé Gy dirng lai, hdy tim téc dé trung binh cliia Marie trén cd quéng dudng.

A) 16 miles per hour B) 12 miles per hour C) 18 miles per hour
D) 15 miles per hour E) None of the above

order. Each child has a number of balls. The child
numbered 1 has 1 ball. The child numbered 2 has 2
balls. Given that the sum of the balls of any 6 k I have ~

consecutive children is equal to 14. How many balls s
does children numbered 3 have? k k

15. Nine children, numbered 1 to 9, sit around a circle in
1ba||

C6 9 dura tré duwoc ddnh sé tir 1 dén 9 ngdi thanh mét vong
tron. Moi dira tré cé mét s6 qud béng. Pura tré s6 1 c6 1 k
quéd bong. Bura tré s6 2 ¢ 2 qud bdong. Biét rdang ct 6 dira

tré lién tiép cd tat cd 14 qud bong. HGi dira tré sé 3 cé6 mdy k k
qua bong?
A)3 B) 4 C)5 D)6 E) None of the above
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IV. Star of hope (10 points per question/ 10 points deducted for wrong answer)
In this part, you must write your answer on the answer sheet.

16. A group of scientists was doing a research on a special type of water fern. They noticed
that their population doubles every 4 days. On 27" April 2020, they started the
experiment with 3cm? of water ferns. On 315t December 2020, they distributed all the
collected ferns into samples of 10cm? and still had @ cm? of water ferns left. Find the
value of a.

Mét nhém cdc nha khoa hoc nghién ciru vé mét loai béo tdy ddc biét. Ho thdy rdng cu sau 4
ngay thi s6 lu'gng béo tdy tdng gép déi. Vao ngdy 27 thdng 4 ndm 2020, ho bdat déu thi nghiém
vdi 3cm? béo tdy. Vao ngay 31 thdng 12 ndm 2020, ho chia déu toan bd sé béo tdy thu duworc
thanh cdc mdu kich thudc 10cm? va dw ra a cm? béo tdy. Tinh gid tri cta a.

Congratulations!
This is the end of the test. Please review the answers carefully before submission.
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